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IT - 35: CLOUD COMPUTING
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01 Attempt all MCQS b 4 [10]
a) Whtsh of the following is not a type of cloud Sé‘fyeﬂ
i Public cloud servers i) ¥, Pn%te cloud servers

?
=

i) Dedicated cloud servers

b) What type of computing techgfat y ﬁfers to services and applications
that typically run on a distributeéd 1 etwark through virtualized resources?
i)  Distributed computifg,

%«a&
) Soft computing”™ %

V) MPrged cloud servers

: ‘fii') Cloud computing

iv) Parallel computing

c¢) Cloud computing ig a kind of abstractlon which is based on the notion of

combining physmal rescoﬂrues and represents them as resourg:s
to wsers, ,

1) . Real N i)y Cloud 7

i)y, Virtual iv) None of the{ ntloned

d) “Which one of the following cloud concepts is rel:
pooling the resources?

1)  Polymorphism 11)
u1) Abstraction 1v)
e) Which of the following is an essential r}
1)  Reliability
) Productivity 1V) All ot the mentioned

PTO.



g)

h)

)

k)

D

The technology used to distribute service requests to resources is referred
to as

iv) all of the mentioned

1)  load performing load scheduling
i) load balancing

Which one of the fallpwin%ﬁiéptions can be considered as the cloud?

i) Intranet
v) All of the mentioned

~d0A A ¥ 1) EBS
GEC iv)  All of the mentioned
Whlch of the following is repeatable task within a- 5"(151ness process?

) Serwce i) BOSAG
111} " Methods ;
What is cloud computing replacmgw

1)  Corporate data centers
1) Expensive personal cqg},}
i) Expensive software
1v) All of the above ¢ R

In this type of ¢lou an orgaﬂlzatlon rents cloud services from cloud
providers no-demantt bdms"

1) Pfivate 1) Public
1) “Protected ~ iv) Hybrid
Whieh of these is not a major type of cloud computm: 'uaage‘7

M, Hardware as a service 1) Platform
1) Software as a service
Cloud services have a

1)  Many-to-many

i) One-to-One

Which of the following factors mightic offset the cost of offline access in
hybrid application?

1)  Scalability

i) Ubiquitous access 1V) All of the mentioned
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p)

q)

t)

02) Whatis cloud computing and write down the chara¢

What are Microsoft Hiper-V predecessor called?
i)  System center virtual machine manager

ii)  Window server 2008

i)  Virtual server 2005

iv) Hyper-V .

1) Costs

iv) User interface

f thP f{)llowmg is a common means for losing.encrypted data?
.. lose of keys i) losethe engryptlon standard

iii) 1@% the account iv) None of Lhese

of the Service Level Agreement‘?
1)  SaaS
i) TaaS :
Who provide GUI (Graphicals
) Client |

i) Server

Jser Interface) to interact with the cloud?

‘ii) Application

iv) Client Infrastructure

Which of the follow%ng characterstlcs should you consider when demdmg
whethento deploy on apphcatlon or service to a virtual machine? <

1) Hardware Requ1g§ment

i) “w.Software suppgnand compatibility
i) Licensing

1v) All of the above

tics of cloud computing.
[10]

OR

Explain the advantages and disadvantages of claud computing in details. [10]
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03) a) Whatis VM wate? Explain the benifits of virtualization [5]

b) Explain cloud Governance. [5]

Explain SOAP Service.
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